e

Xl 2H
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= "equal to"(=) &t Hl= S| 2 AH .
X = X
x=yO0[HYy=x
x=yO0ldy=z0Hx=12
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i Ol: SXIg

[0] [1] [2] [3] [4] [5] [6] [7] [8] [9] [10][11]

seq

data
link

data
link

O

=

=10]

stzE 22 2AE

;

-
-

-
-

-
-

11| 13| (12| |5||7||3||8]|4]||6 6|0
IAAIIAIAIA I
| L |
4 1|0 10 9 2
N\ N| | N N\ N\ N
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i S A BME /st Iz 2E(2)
» 2 XIR boolean BIE out[n]
= out[i] = TRUE: &4 i€ &SE0HO0F &, (x=J]8))
= out[i] = FALSE: it O|0] €& LAl =82 ER Bls.

s C|AE ESHE2 0|28 =X 2eA HM
= Step 1: SXet=S L0 seq[]E 0l=¢et S| AE A4
= Step 2: out[i] = TRUEQ! &R &2 i, O

|

d seq[i] 2IAEE AMGIHA 2|AEL E—
seq[i]2 &4 SO A out][] BHE 2l 2¢0| TRUEC! A=
OlelAE=S=S M AHME 2ot S AHOHHOF &

(StackO| 2 K)

Stack= #&lot)| fIotH oY = E9| link & & E stack
Ol I3 AAE JId| = EQHZ B &
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i Program 4.21: =J| SX| €128

void equivalence ()

{

Initialize;
while (there are more pairs) {
read the next pair <1, j >;
process this pair;
h
Initialize the output;
do
output a new equivalence class;
while ( not done );
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i Program 4.22: =&8& SX| €12|&

void equivalence()
{
Initialize seq[] to NULL and out[] to TRUE;
while ( there are more pairs ) {
read the next pair <1, j >;
put j on the seq[i] list;
put i on the seq[j] list;
}
for I=0;1<n; i++)
If (out[i]) {
out[i] = FALSE;
output this equivalence class;
h
h
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Program 4.23: 2|& SXl £12I&(1)

#include <stdio.h>

#include <alloc.h>

#define MAX_SIZE 24
#define IS _FULL(ptr) (!(ptr))
#define FALSE O

#define TRUE 1

struct node {
int data; /1 ==& HIOIHIt g8 =h) JtE
struct node *link;

};

void main(void)

{ short int out[MAX_ SIZE];
struct node *seq[MAX_SIZE], *x, *y, *top;
inti, j, n;
printf("Enter the size (<= %d) ", MAX_SIZE);
scanf("%d", &n);
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Program 4.23: =& SX| £12|15(2)

for (i =0; i <n;i++) //seq[]2t out[] BHE
{ out[i] = TRUE; seq[i] = NULL; }

/* Phase 1: Input the equivalence pairs: */
printf("Enter a pair of numbers (-1 -1 to quit): ");
scanf("%d%d", &i, &j);
while (i>=0) { // S==JF dE8EH C|AE MY &

X = (struct node *) malloc(sizeof(struct node));
if (x ==NULL) {
fprintf(stderr, "The memory is full"); exit(1);

o

==t

¥
x>data = j; x=>link =seq[i]; seq[il]=x; //j2iclAE2Q &0 =Dt
X = (struct node *) malloc(sizeof(struct node));
if (x ==NULL) {
fprintf(stderr, "The memory is full"); exit(1);
¥
x>data =i; x=2link =seq[j]; seq[jil=x; /iE]2AES 20 F=It
printf("Enter a pair of numbers (-1 -1 to quit): ");
scanf("%d%d", &i, &j);
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Program 4.23: X|& sX| £12|35(3)

for 1I=0;1<n; i++) /* Phase 2: output the equivalence classes */
If (‘out[i]) continue;
printf("\ n New class: %5d ", i); // MZ=2 224 =2 AlE
out[i] = FALSE; /& ES0t% 3.
x = seq[i]; top = NULL; /] A8 =D st
for(;;) { /[l S A2 LIHAI E48 A
while (x) { /l I AES AN
] = x—~>data;

if (out[j]) { //jJt Ot& ==& A ZEULHHA .
printf("%5d", j ); out[j] = FALSE; // |2 =58 =,
y = x=2link; x=2>link = top; top = x; x =y; // push()

¥
else x = x=2link;

¥

if ('top) // &M 2HA2 2= AALE =Z0IUS.
break;

X = seq[top—>data]; top = top—>link; /1 pop()
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i Of: AE82 &t AMHl S

[0] [1] [2] [3] [4] [5] [6] [7] [8] [9] [10][11]

S€q
%p K Y Y Y Y Y Y Y Y Y Y Y Y
data (11| (3| (11| (5| |7||3]| |8 8|6
link A N 1 N | N |
y /
\ Y % top l l l
data 1110 10 9 2
| in k N N N N
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o =7 1

s data 2 =2t link 2= 2=
E0 A data 2= b2l &
? & first=e 2| AEE Jiel |
25t EF QO FEOIE{OICE. [10

fire data link data link data link
. —1 5[ ——| ¢ |NulL

ol

(@ temp = first; first = first->link; free(temp);
@ first = first>link; temp = first; free(temp);
3 temp = first>link; first>link = first>link>link; free(temp);
@ first>link = first>link>link; temp = first>link; free(temp);
® temp = first>link; free(temp); first>link = first>link>link;

13



= Al 2

=2 3 HZ 2lAE(circular linked list
Ol 0B &2 L ==2 Jf=E Btetol= 2
=0HZ HE2 242117 [10]

| Al data 2 & gt
st=0|C. A2F BO|

struct node { intdata; struct node *next; };

Int compute_sum(struct node *ptr) {
struct node *p = ptr->next;
Int count = (ptr->data<0) ?1:0;
for (A)
f(B) count++;
return count;
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[0
2d
o

CtE22 0l= H3Z& 2lAE(doubly linked list) 0l M tempJt Jtel
Jle= S5 2 ptr0] Ji2I2l= &2 2F 0 4ol 2102lS
Of 20ILH AZIBUl =& 2&2 S22 &, ptrel 0| &
L C 9 OHS &= &= NULLO| OFLICE. [10]
before next
<__>_ 100 < > 200 _Z
temp —> 150 Tptr

temp->next = ptr;
A,

B;

ptr->before = temp;

4%, 2|AE (Page 15)



=AMl 4

0 c
q2l Ol & (prev) =EJt p@l
Bt J| 2ot Ofch
OHOFot=Jt? (H, p,g ==

OFRI2F = E0F OfLl et ) D& etlh

QT O =M Z Al

= o
HE elAES HE2 kE

@ p—prev = q;

@ p—prev—next = q;

@ p—next = q—next;

@ gq—next = p;

® q—next—prev = p;

® q—oprev = p—prev;
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S OHol tha HERIAE X,y 29 LE(SYRE)ES M
A 2(swap)ot DAt etlh =9 =& =2| next= NULLO| OfL|ct
1 JFEE [, Ofch A2t B2l boxE MRAIL. [10
y—> > y—> o E— o E— —|—>
struct node { int data;  struct node *next; };

struct node *swap_next_node(struct node *x, struct node *y) {
struct node *tmp;
tmp = X—next—next;
A,
tmp = X—next;
B ;
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